Attachment 5


Articles of Confederation Worksheet


Name ___________________________________ 


	Name and explain events that happened.
	Explain why this situation was able to exist.

	Explain why the central government could not correct the situation. 
(weaknesses of the Articles of Confederation)

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


Choose 2 of the above events and explain how the BIG IDEA applies to each.  

(Use the back of the paper.)
Articles of Confederation Worksheet:  Answer Key


Sample answers:  (not limited to the following) 

	Name and explain events that happened.
	Explain why this situation was able to exist.

	Explain why the central government could not correct the situation. 
(weaknesses of the Articles of Confederation)

	Shays’ Rebellion – Farmers forced to pay property taxes in gold staged an armed uprising, shutting down courts so farms could not be foreclosed.
	Massachusetts did not want to print its own money but needed money to pay off its war debt.
	Each state was responsible for its own debt because there was no national debt, only state debt.

	States printed their own money. This left the people with virtually worthless money and caused inflation.
	The states needed large amounts of money to pay the Revolutionary War debt.
	Each state was responsible for its own debt because there was no national debt, only state debt. 

	The British would not leave the forts in the Northwest Territory.
	No specific time was given in the Treaty of Paris as to when the British would have to leave.
	The United States government could not raise an army; they had to ask the states for militia.



	Americans sailing down the Mississippi River were arrested by the Spanish, thus they could not use this trade route.
	Spain closed the lower part of the Mississippi River to American ships.
	The central government did not have the ability to raise an army to defend the people and their trade.

	British merchants charged high prices for goods they sold. If a state charged a tariff, then Britain would move the trade to another state.
	Britain wanted to make big profit from the Americans.
	The central government did not have the power to tax the citizens, only the states had this ability.

	Maryland and Virginia argued over who had the right to sell the oysters from the Potomac River, leading to the Oyster War.
	There had been minor conflicts during colonial times because Charles gave the Potomac River to Maryland. Ownership didn’t change after the American Revolution.
	The central government did not have the power to regulate interstate trade. Each state could set its own standards.


Choose 2 of the above events and explain how the BIG IDEA applies to each.

	The British charged American high prices for the goods sold here. Because the U.S. government had no ability to intervene in the foreign imports, Britain could get away with charging whatever it wanted. If one state wouldn’t agree to the prices and charge tariffs on the goods, Britain would go to another state. This caused conflict and distress for the merchants because it really hurt them economically.



	The Oyster War pitted one state against the other. The lack of the central government’s ability to regulate the trade and the laws between states caused friction and animosity between the states; there was no neutral party. The states wanted a constitution written to help solve the problem.


I CAN explain the weaknesses of the Articles of Confederation and how they led to the creation of the U.S. Constitution.





BIG IDEA: 








I CAN explain the weaknesses of the Articles of Confederation and how they led to the creation of the U.S. Constitution.





BIG IDEA: The kind of interaction a government has with its people can create cooperation or conflict.
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